Notes: Rectangles, Rhombi and Squares -

Properties of Rectangles A rectangle is a quadrilateral with four
right sngles. Here are the properties of rectangles.

A rectangle has all the propertics of a parallelogram.,
* Qpposite sides are paradlel.

¢ Opposite angles are congruent,

¢ Opposite sides are congruent,

* Consecutive angles are supplementary.

# The diagonals bisecl each other

Alse:
¢ All four angler are right angles, LUTS, TSR, <SRU, and ZRUT ave right angles.
* The diagonids are congruent, TR = U5
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the figure with vertices F(-4,-1),G(-2,-5), H(4,-2) and J(2,2) is

a rectangle.

To be a rectangle, you must test for
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2. Determine whether the figure with vertices F(-4,-1),G(-2,-5), H(4,-2) and J(2,2) is

a rectangle.

To be a rectangle, you must test for
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Properties of Rhombi A rhombus is a quadrilateral with four

congruent sides. Oppu-,llv sides are congruent, o a rhombus is also 2
parallelogram and has all of the propertics of 4 parallelogram. Rhombi

also have the following properties,

Tha diagonals are perpendicular,

Each diagoral bisects a pait of appasite angles.

[AH bisects 2 RMC and «BHO,
HO bisests £ MAH and 2 MO,

It te diagonals of a parallelegram are

pampendicular, then the fiqura is n rhombus.

It RHOA s a paralislogram and AG .« %4,
then RHOM is a thombus,

In rhombus ABCD, m£BAC = 32, Find the
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&Determine whether the figure with vertices E(-7,3), F(-2,3), G(1,7) H(-4,7) is a

rhombus.
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Properties of Squares A square has all the properties of a rhombuz and all the
properties ol a rectangle,

£ Find the measure of ench numbered angle of
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4. Determine whether the figure with vertices E(-2,-1), F(-1,3), G(3,2), and H(2,-2) -
is a square.

To be a square, you must test for q S‘df_s i 4 an'f" aﬂﬁu,j
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